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QUESTION 1

(single) Is the following description correct? Devices in the ODN network require power to operate. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 2

(single) Which of the following is not part of the PON network system? 

A. OLT 

B. OAM 

C. ODN 

D. ONU 

Correct Answer: B 

 

QUESTION 3

(single) Is the following description correct? The mounting ears of the MA5616 are used for 19-inch cabinet installation. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 4

(single) At a UA5000 site, the ADSL user of the entire chassis needs to go up to the IP network through a VLAN. The
upstream VLAN of the IPM card should be defined. 

A. standard vlan; 

B. smart vlan; 

C. mux vlan; 

D. super vlan 

Correct Answer: B 
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QUESTION 5

(multiple) The MA5600T supports multiple traffic classification technologies. What are the currently supported traffic
classification technologies? 

A. Based on the user side VLAN 

B. Based on the user side service encapsulation type 

C. Based on VLAN + user side packet priority 

D. Based on VLAN + user side service encapsulation type 

Correct Answer: ABCD 
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